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 TRAP – A 
1 TINU  

STPECNOC CISAB  
 

 eulavL nialpxE ?elbairav a ot retniop elpitlum evah ew naC ?elbairav retniop a si tahW .1
 .noisserpxe eulavR dna )01naj/90ced(,)0102 nuj/yam( ,)0102 ced(,)80yluJ / enuJ(  

omem citatS .i : neewteb secnereffid 2 tsaelta eviG .2  yromem cimanyd dna noitacolla yr
.noitacolla  

.)(collac dna )(collaM .ii    ( )0102 ced( ,)80yluJ / enuJ  
.sretcarahc 2 paws ot dohtem ecnerefer yb ssap gnisu margorp C a etirW )i .3  

 .sretniop gnisu fo segatnavdasid dna segatnavda 2 yna eviG )ii  ( 0yluJ / enuJ )8  
 ced(.yfsitas tsum mhtirogla na taht airetirc eht nialpxe ylfeirB ?mhtirogla na si tahW .4

)1102  
)1102 ced(.hcraes yranib tnemelpmi ot noitcnuf evisrucer a etirW .5  

 .6 ?edoc gniwollof eht fo tuptuo eht si tahW  
 ;}1,2,6,4,3 { =]5[mun tnI  
 ;mun=p* tnI  
 tnI  ;2+mun =q*  
 ;]1[mun&= r* tnI  
 ;))2+mun(*,]2[mun,”d%d%“(ftnirP  
 ,”d%d%“(ftnirP  ;))1+p(*,p*  
 ;))1+q(*,q* ,”d%d%“(ftnirP  
 ;))1+r(*,r* ,”d%d%“(ftnirP  )0102 ced(  

 
 

2 TINU  
SERUTCURTS dna SYARRA  

 
o sesu 2 yna noitneM ?noinu na morf reffid erutcurts a seod woH .1  a si tahW .erutcurts f

( ?serutcurts htiw desu sdleif tib era yhW ?dleif tib  nuj/yam( ,)0102 ced(,)80yluJ / enuJ
)0102  

 
3 TINU  

SEUEUQ DNA SKCATS  
 

woH .1   margorp C a eviG ?erutcurts atad a kcats si woH ?erutcurts atad a enifed uoy od
 fo kcats a tcurtsnoc ot  .ti no snoitarepo yrassecen eht lla mrofrep dna sregetni (  / enuJ

)01naj/90ced( ,)0102 nuj/yam( ,)0102 ced( ,)1102 ced( ,)80yluJ  
 oslA .noisserpxe xiftsop a ot noisserpxe xifni dilav a trevnoc ot mhtirogla na etirW .2

noisserpxe xiffus gniwollof eht etaulave  .3=C 2=B 1=A :seulav eht rof  
C+BA - $C+AB -  (,)1102 ced(  ,)0102 nuj/yam( ,)0102 ced( ,)80yluJ / enuJ

)01naj/90ced(  
 2 yna noitneM ?eueuq yranidro revo eueuq ralucric fo egatnavda eht si tahW .3

mi citats rof TRESNIQC mhtirogla na etirW .seueuq fo snoitacilppa  fo noitatnemelp
 .eueuq ralucric ( )0102 ced(,)80yluJ / enuJ  

)0102 nuj/yam( .eueuq elpmis a fo gnikrow eht nialpxE .4  
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4 TINU  
STSIL DEKNIL  

 
.1   deknil ylbuod fo segatnavda owt yna dna tsil deknil fo snoitacilppa owt yna tuo tsiL

 .tsil deknil ylgnis revo tsil  )1102 ecd()80yluJ / enuJ(  
( .tsil deknil ylgnis a gnisu eueuq yranidro na etalumis ot margorp C a etirW .2  / enuJ

 ,)1102 ced( ,)80yluJ )0102 ced(.  
.3  ( .tsil deknil ylgnis nevig a rof noitisop deificeps a ta edon a tresni ot mhtirogla na eviG  

)80yluJ / enuJ )0102 nuj/yam ,  
 ta tsil eht ot stnemele eht egnahcretni dna tsil deknil a etaerc ot margorp C a etirW .4

 eht gnignahcretni retfa dna erofeb tsil eht fo stnetnoc yalpsid dna n dna m noitisop
 .stnemele  )80yluJ / enuJ(  

id fo serutcurts eht nialpxe ylfeirB .5  ot noitcnuf c a etirW .stsil deknil fo sepyt tnereff
)0102 ced(.tsil deknil ylgnis a ni tneserp stnemele fo rebmun tnuoc  

 .6 etirW   a tresni )i : tsil deknil ylbuod no snoitarepo gniwollof eht mrofrep ot margorp c a
)0102 ced( .edon a eteled )ii edon  

tirW .7 )0102 ced(.stsil ralucric no eton trohs e  
 

 TRAP – B 
5 tinU  
 SEERT – 1 

:gniwollof eht enifeD .1  
eert yraniB )i  

eert yranib etelpmoC )ii  
eert yranib etelpmoc tsomlA )iii  

eert hcraes yraniB )vi  
( eert a fo htpeD )v  ed( ,)0102 nuj/yam(,)0102 ced(,)80yluJ / enuJ )01naj/90c  

( .slasrevart redrotsop dna redroerp ,redroni eht etirw ,hparg gniwollof eht neviG .2  )80yluJ / enuJ  

 

( .seert fo snoitacilppa 4 yna ebircsed feirb nI .3 )80yluJ / enuJ  
4 :woleb nevig redro lasrevart eht morf eert yranib a tcurtsnoC .  

 = REDROERP K J L H G C F E D B A  
( K H J L C G A E F B D = REDRONI )80yluJ / enuJ  

5 3(+6(( : rof eert yranib a tcurtsnoC . - (. )3+2^)5*)2 )80yluJ / enuJ  

( .seert yranib dedaerht ni tfel dna ni thgir nialpxE ?eert yranib dedaerht si tahW .6  / enuJ
)0102 ced( ,)80yluJ  
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 .7 d( )1102 ce  

 
 

8  ced(redrotsop)iii redroerp)ii redroni)i :slasrevart eert gniwollof eht rof noitcnuf c etirW .
)0102  

6 tinU  
 SEERT – SHPARG ,2  

 
.1   eert renniw )iii hparg )ii tserof )i :elpmaxe na htiw gniwollof eht nialpxE )1102 ced(.  

aes yranib eht ebircseD .2  hcraes ot noitcnuf evitareti a etirW .elpmaxe na htiw eert hcr
.eert hcraes yranib a ni eulav yek a rof  )1102 ced(.  

 
7 TINU  

SEUEUQ YTIROIRP  
 

 morf tnemele nim fo noiteled eht ni devlovni spets eht nialpxE ?paeh laimonib si tahW .1
)1102 ced(.paeh laimonib a  

 .sepyt tnereffid eht nialpxe ylfeirB .paeh iccanobiF enifeD .2 )1102 ced(.  
?eueuq ytiroirp nialpxE.3 )01naj/90ced(  

 
TINU -8 

SEERT HCRAES YRANIB TNEICIFFE  
 

tsb lamitpo )ii seert decnalab thgieh )i :ge na htiw gniwollof eht ebircseD .1 )1102 ced(.  
t nialpxE .2 deR eh -  seitreporp sti etatS .eert kcalb )1102 ced(.  

.seert yalps fo sepyt tnereffid eht nialpxe ylfeirB ?eert yalps si tahW .3  )1102 ced(.  
 

 


